5’ NI PIMIY P MY

'R 1199

o' DTN

,MIYN DNTA7Y DAYINNI D'RYIN 72 7V nz'ONNNa NATNI 71200 NTIAY 001197
.NNQN NIV DP'uonnnn TIN'7 0'0a nHnnN

YN Q107 N'RWNT K71 nwoinn 7 717002 N1'DN71 nTIavn DX 7707 ¥

27U IUXIN YVIAWA NWIANYTIENAL XN T N0 ,NNTIoN NIXA NTIAYA DX N7 W
.D07¥ np'onnn? NN o'TM'7n My

NX NIXIATI P'NYn7 W' 0'720NN DX .0'¥21IYN 09T NNY? [N — 0'9Tn7 DN X7
(MmN NITRUN DX 'NYn? I P'R) [NN9A T

.(Mwn N7'NN2 0N 1IRN) NP'VANNA NN Y XN 7'MIY N7'NNa
N2 MY 'R 00NO0 [I'XN 770 DINN ATIAYN Nwan

nN7'onnn Niix ,NN'Vl nwsin



N N'XN19

N

1
.}’=—Ex—2 X190 97a N0 010w 0w TN

TN ~ 17 apnn W KD wn W

I
\ 2200 201N A¥paey oana (1) ik (1) o'ean fan M K
Il

N1 79WN WS OERNINYT 1710 TINAN NIRNYMD 2 ' A

y=2x-2 | y=-%_r—3 . ‘}=:%_r+l.5 , y==2x+3 , }=:-%x+l.5

0NN A YT QY DI 0'9NAN WY Tapnn W NN 0w A

(=3 ; 8) AT T 2 =3 WIS W IIRIYA NN MY N
(-1:2), (-4:;5) (-2 ; 1), (1;-4) :(N) g'von WD 70 NINYAT NIXAD NITN 20 7' .2

A=1:13) -1 (1 7) mmn )T 2N W INEYNA NN QYN N
A2 -2) AT T 2w () gleon W7 apnn W INNYN NN QYN 2

() gruon W U NINYNIN D90 AT XY .2



NPEPNON DY DBNN DN VIVIVIAY DWW
y=2x+4 y=—-x+4

97300 .09 90 IR EPNS Dah imNnn N

» A, B, C mmpmmry NNINSD A

ABC wvnn now NN N¥n .

ACYSN TN NN YN T

AB Y 570, CAmipin 797 1200 AWen NNNWA NN Nyn L0

5

: DI DN VIV

y=—5+5 1

y=x+2 11

MNNYHRND NN 92 1NND (W)
N2 DINNDN 9700

:TTIPIN M NNOawn (3)
.C,B A

. AACB nownnavn ()

.6
f{x}=—%x—4 . g[x]=—2%x+8 N3N N'YI9N Niima

N7 970 NN PO 77 DNNN X
.D -1 C B ANmpn Niy'w NN N¥n 2

LS =58, DnoNn a

.BD v nunwn Ny awn LT
1 7BD w7 apn AC e oxn .0




Yy
F 3
N
K
\E/
C D X
/B

(7
o7 0'oanl Ny Ao "My nnima
f(x)= —I X—3
2
gx)==x+9

N7 OIAN NN NXFID 797 I'RNN LN
A,B,C,D,E nimpaiy'w NN IN¥n .2
?nmarn f(x) n¥Fen X 00y 17N 1Y

£

?g(x) = 0 ompnn X DWW IR Y T
?f(x) <0 o"pmn X DW IR D
M(x )= g(x)orpnn X DWW TR

W (X)=gxX)o"pgnn X DW TRV T

on'

8

MOVYNN I9DNY NPPATNY DI12N 19D P2 ONYN .1NPIIND DXANIN NNOY NIY
7Y NNYY DN NNIY DA 14 — 2 NWHNNYN NI . 2: 1 NN INHWY

(2x+6)(x—-4)=2x"-4x+3 (@
(10x=1)(x=2)=(5x+1)(2x=3) (1
X(x+4)=x"+(2x+D(x+2) O
=24 (x+2)(x+3)=x(x-4) (M
(<3x=5)(2x+4)=—6(x" —4) )

[imbmhpim)a)

NIy X1 NiXNHYn

.9
JNEEN MENYED DN 1RG
(a+1)(a+8)=a’+10a (N)

(x+3)(x+4)+5=x"=Tx+3 ()
(x=9)(2x+8)==2(4x+3)+2x (0
(8+a)(8—a)=(6+a)(10-a)
(y=20)(y+2)=-66+)" =5y ()



NIXAN NIRNwNN N Nno (10

1(6x+1)-1{4x-1}= ](Sx-ﬁ)
4 2

5

8(x—1) 6&—3)_2

3 5

3Gx—6)_t_—7ﬁ—zx)
4 ‘ 6

3X=6 ,2X-4 _ o, _
3 + 5 =2X-3 T

2X—4 _5ry _oy_3Xx—6
7] 2(x-2) 3 -

Jmaw nimim ninx e 7y 11

NMIYRIN NN7XN 7V YWD AN DMy 2-2 nMwn nnben by

NMYN NNYXN WY nimivn n 3 . niwxan nnven Yww N [n %

4
T2 iy |

T2519 Ny 44 ninaim TN DINYXN My 7y

?NNYX 722 DAY NNd NAIWKRIN DNYXN 7Y NYN 190N NN aX'M X

A2

4(6x—-8)<8(3x—-4)

bx > 2(3.1'—1]

2(x—5]3_=%{4x+6)

-

(x=2)" +4<(x+2)"+20




D'N'7V1 WA NIXIYN NDYYN

(13
NIXQN NIXRNYUNN NDAVYN NXK INNO .

{x=? {41—2_}-‘:4 {_}::—91-4-35

r=25— R y=8x—50

y=25-2x X ¥ 3 R ¥y X N
N |

3-2(x=35)=d—y {J"=2-I {y=x—l

y=x-4 4(x=3)+6(y+3)=0 4(x=4)+2y-x=2

NIRHYNA DD -Ni'r'n niva .14

NIXNYN NDIYN 112 ,NMINYN 72 AX'N NN 10700 ,NNTIoON NNIX2 DRININ DX AR

.43

MIN DYVIA0R W D0

NN

, 5 =3 mwn 1Bonn nX 2 -2 WNIN 1D0RN NN PR ON
YN 10000 Y mrnn 2 -2 MOP NN NYRIN 12080 Yw mnn

-~

mpam 3

? ormavnn onn

]|

X

PATR Y W ANPYI . MpaTn X ¥ XNpea Y

M APV PN AMPYY X pun mpam 10 My ox

N P IUND

DN NVPYN XNV MPATHN 1000 M X PYY 2 mwpwn mpam 10 1w ox

7 Opw Y22 MPATHN PVON NN

N 1,060 N 0P D001 4 - 091 MOUNN O S Svornn.d

OMP 0001 2 Svovrnen ny 20 -2 09 0oV 3 Sy ovnn

79 DY S NN NN AP DD DY N N

21212 N0'd 0'vdN NI T T7' 1Ay 1>MA7 N0'd 0'vYD
.N"vw 81 m7w 017 3 -1 pMaan 2

n"w 114 m7w 017" 4 -1 pMaian 3

721An7 0'0D 'NA ARl T?'? 0'vd NN NN
.DN'YYY DIIY'NN 70 DX 12D

T



O IAN'S
DUr-1v o'whivn v nnwav naima vivava 15

.EC yupn 70X DX 1001 1awn

n"o «/ﬁ i n"o4 X
n"o 16 .7 n"o \/E A

.D"piw-nnw ABC whiwn .16
W21unn NVY NX 1INO0I1 1IAVN

2""'nmo 21.21 A 2"'no 340 .X
2"'no 120 .71 1"no 240

A

DU o'wivn nyaax naima 17

v I

TN QWAL MDD NIRRT MYRWS NY

?0712N'D VOWN NIYXNNK] NN MNIX NX QWN7 TWOX D'Y7IYNNN TR .

IV whiwna .71 I w7iwna 2 Il w7iwna A | v7vma X

.DNIN'OYW W2IwNa NN TIX NX 1IN0l 1awn . ”

n"o72 .1 n"o«/ﬁ A n"o6 .2 n"o\/ﬁ .N

11711 n1yL NV — D'YU71UN N9'DN NINJIA -N"1VNIXA




AABC :im .18

A BD = DE = EC
.NI2IN NYLN NN 1IN0
AABD = AAED .x
*BAD = «DAE a2
B 5 = C AACE nov? nuw AABD now .

AD L BC .71

.E nmmanonna BD -1 AC owopn v (\19
(EB=DE) DB yupn yxnx — E :pm
a=p

.NdIn

.0'991n CED w71wni ABE v'7ivn X

(EC=AE) AC youpn yxnx E nmimn x

o piw-niw AABC :pima .20
o'oan ni'ur nx o'xin CM -1 BM
<BMC = 100°
.N1ID1N NMYLN DX 1IN0I1 ,NIMIT 7Y 0772 1AwN
nur-wr ABDA X
opiv-niiy ABDC A
p"piv-nily ADMC .

D n"piw-niy ABMC .71

,(AC = AB) n"jpniv nnw wiwn ABC w7iwun j1ima .21



]

9]

IIan%xna

BPOZ =0RCcZ BCy¥nx O
A BPO = ACRO :In»iIn

AB = AC :qpm .22
BD =DC

AK = AM
AKBD = AMCD :InDIn .X
*<DKM = x<DMK mD IinnIin A



